EOCT Review
Part 7
Below are the standards that we will cover as part of today’s review. You need to review these standards and make sure that you are familiar with concept or idea connected to each of them.

SSEMA1 The student will illustrate the means by which economic activity is measured. 
a. Explain that overall levels of income, employment, and prices are determined by the 

    spending and production decisions of households, businesses, government, and net 

    exports. 

b. Define Gross Domestic Product (GDP), economic growth, unemployment, Consumer 

    Price Index (CPI), inflation, stagflation, and aggregate supply and aggregate demand. 

c. Explain how economic growth, inflation, and unemployment are calculated. 

d. Identify structural, cyclical, and frictional unemployment. 

e. Define the stages of the business cycle, as well as recession and depression. 

f. Describe the difference between the national debt and government deficits. 

EOCT Content Descriptors

On the EOCT, students will be required to show an understanding or be able to apply the following concepts related to the above standards.

- significance of the unemployment rate

- structural, cyclical, and frictional unemployment

- factors that account for household, business, and government spending decisions

- aggregate demand, aggregate supply, and their relationships to prices

- how and why data collections are used to measure economic conditions

- Gross Domestic Product: data collection, significance, and uses

- Consumer Price Index: data collection, significance, and uses

- inflation and stagflation

- causes and stages of business cycles and their effects on economic performance

- causes and effects of recessions and depressions

- national debt and government deficits: how calculated, differences between them,

  and their significance
Concept 1: Unemployment 
Standard(s): 

Explain how economic growth, inflation, and unemployment are calculated. 

Identify structural, cyclical, and frictional unemployment. 

Content Descriptor(s): 

- significance of the unemployment rate

- structural, cyclical, and frictional unemployment

What to know: 


Unemployment exists when there are people who are willing and able to work who cannot find a job. The unemployment rate is calculated by dividing the number of unemployed people by the number of people in the civilian labor force and then multiplying by 100. For example, if the number of unemployed people is 200,000 and the civilian labor force is 2,500,000, then the unemployment rate would be 8% or (200,000/2,500,000) x 100. There are three types of unemployment: structural, frictional, and cyclical. Structural unemployment exists when people lose their job because their skill or training is no longer needed. Frictional unemployment exists when people are simply between jobs. Cyclical unemployment is caused by a recession or a downturn in the economy. 
Practice Questions:

(1) The unemployment rate is computed by

A   dividing the number of employed people by the number of unemployed people

B   subtracting the number of unemployed workers from the population

C   dividing the civilian labor force by the nations total population

D   dividing the number of unemployed workers by the civilian labor force

(2) Bobby lost his job because his dung shoveling skills are no longer required due to the creation of a dung shoveling robot. What type of unemployment does this example represent?

A   seasonal

B   cyclical

C   frictional

D   structural

(3) Bobby gets a new job at a local factory, but quickly loses it due to an economic recession. What type of unemployment does this example represent?

A   seasonal

B   cyclical

C   frictional

D   structural

The economy of Bolivia is undergoing some dramatic changes. The number of unemployed workers in Bolivia is 10 million out of a civilian labor force of 30 million. Due to the high unemployment, consumer spending is way down.


(4) What is Bolivia’s unemployment rate?

A   10%
B   30%
C   33%


D   40%
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(5) Using the above graph, what is the general trend in the unemployment rate since 2004?

A   the unemployment rate has been increasing
B   the unemployment rate has been decreasing
C   the unemployment rate has not changed
D   the unemployment rate has demonstrated no noticeable pattern 
(6) How do we calculate the unemployment rate? _____________________________________

_____________________________________________________________________________

(7) Why is it so important that we monitor the unemployment rate? _______________________

_____________________________________________________________________________
_____________________________________________________________________________

Concept 2: The Business Cycle
Standard: 

Define the stages of the business cycle, as well as recession and depression. 

Content Descriptor(s): 

- causes and stages of business cycles and their effects on economic performance

- causes and effects of recessions and depressions

What to know: 


The business cycle is the consistent pattern of ups and downs in the economy. There are two phases to the business cycle. If the economy (GDP) is growing then the economy is in the expansion phase. If the economy is going down (high unemployment and a decline in GDP), then the economy is in the recession phase. If consumers spend more, then the economy will expand and more jobs will be created. If people stop spending, then the economy will slide into a recession as people lose their jobs. A depression is simply a deeper and longer lasting recession. Below is an illustration of a business cycle.
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Practice Questions:

(1) The two phases of the business cycle are

A   expansion and depression

B   expansion and recession

C   peak and trough 

D   inflation and stagflation

(2) The point in the business cycle where the economy moves from economic growth to recession is known as the

A   trough

B   bust

C   peak

D   turn

(3) In the United States, the unemployment rate is down and GDP is growing. Which phase of the business cycle is the United States likely to be in?

A   expansion

B   recession

C   depression

D   trough
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(4) What phase of the business cycle is represented by point C?

A   expansion
B   recession
C   trough
D   stagflation
(5) What phase of the business cycle would the U. S. be in if the unemployment rate increased 

from 4.5% to 5.2% and the GDP had been in decline for nine months? _____________________
(6) What phase of the business cycle would the Unites States be in if the unemployment rate 

dropped from 5.2% to 4.5% and the GDP had been increasing? ___________________________
(7) What is the term that is used to describe a very deep or extremely long recession? _________

Concept 3: National Debt and Government Deficits
Standards: 

Describe the difference between the national debt and government deficits.
Content Descriptor(s): 

- national debt and government deficits: how calculated, differences between them,

  and their significance
What to know: 


Government Deficits exist when the government spends more money than it makes off of taxes. For example, if the government takes in $200 billion in tax revenue, but spends $210 billion, then there would be a government deficit of $10 billion. The national debt is the amount of money owed by the federal government. The national debt is created when there is a government deficit. This forces the government to borrow money, which must be repaid with interest.
Practice Questions:
(1) The national debt increases when the government

A   spends more than it gets from taxes

B   increases taxes too much

C   attempts to fight inflation using the tools of fiscal policy

D   attempts to increase unemployment using the tools of fiscal policy

(2) Government deficits can result from 

A   an increase in tax revenue

B   an increase in government spending

C   a decrease in government spending

D   an increase in consumer spending

(3) Which of the following is likely to occur if the government increases spending and decreases taxes?

A   the rate of inflation will decrease

B   the unemployment rate will increase

C   the National Debt will increase

D   GDP will decrease

(4) What should the federal government do to pay off the national debt? __________________

____________________________________________________________________________

____________________________________________________________________________

Concept 4: Aggregate Supply and Aggregate Demand
Standards: 

Define aggregate supply and aggregate demand. 

Content Descriptor(s): 

- aggregate demand, aggregate supply, and their relationships to prices

What to know: 


Aggregate supply is the total supply of goods and services produced within an economy at a given overall price level in a given time period. Aggregate demand is the total amount of goods and services demanded in the economy at a given overall price level and in a given time period. Just like regular demand and supply, both respond to price. If prices go up, aggregate demand will decrease. If prices start to drop, aggregate supply will decrease. 
Practice Questions:
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(1) The above graph illustrates a change in a nation’s aggregate demand. Which of the following is the most likely result of this change?

A   companies will produce more products and thus will higher more workers

B   GDP will decrease and the unemployment rate will increase

C   the inflation rate will decrease

D   the Fed will institute easy money policy

(2) What would be a reason the aggregate demand curve moved to the right in the above graph? 

A   The economy is in recession and income levels are dropping.

B   The nation’s population has been wiped out by disease and famine.

C   The economy is in an expansion period and income levels are increasing.

D   The Fed has reduced the money supply by cutting the reserve requirement. 
















































